o

-

\./

2

4

\/

00

SERVICE MANUAL

= FRONT PANEL

.
r'ﬁ
YAMAHA |
!
o 5 |
. PROFESSIONAL SERES
) s
= _ 3}
BCONTENTS
SPECIFICATIONS . ............... 2 PRINTED CIRCUIT BOARD ........ 5
CHARACTERISTIC CHART ......... 2 SCHEMATIC DIAGRAM ........... 7
PARTIAL DISASSEMBLY ... .. SRR 3 WIRING ... ...... ... oot 9
ADJUSTMENT AND INSPECTIONS ... 4 . PARTS LIST....... NCREREEERREEE 11

006368

€ YAMAHA

Printed in Japan 4.77

Y e thas -t



(S/£1001=)

BSPECIFICATIONS

CIRCUIT SYSTEM

POWER OUTPUT
{Both channels driven)

POWER OUTPUT AT
CLIPPING

(Single channel driven)
FREQUENCY RES-
PONSE

TOTAL HARMONIC
DISTORTION

IM DISTORTION

INPUT SENSITIVITY

INPUT IMPEDANCE

ALL STAGE DIRECT COUPLED COM-
PLEMENTALY

PARALLEL PUSH PULL OCL CIRCUIT
85W + 85W (8§1, 20Hz ~ 20KHz,

less than 0.05% THD)

140W + 140W (452, 20Hz ~ 20KHz,

less than 0.05% THD)

95W + 95W (852, 1KHz, less than 0.05% THD)
160W (4£2, 1KHz, fess than 0.05%)

110W (852, 1KHz, less than 0.05%)

+0
20Hz ~60KHz, " dB

Less than 0.02% (852, @50W, 20Hz ~ 20K Hz)
Less than 0.01% (852, @50W, 1KHz)

Less than 0.03% (452, @75W, 20Hz ~20KHz)
Less than 0.01% (452, @75W, 1KHz)

Less than 0.05% (452, @140W, 20Hz ~

20K Hz)

Less than 0.03% (75W/8S2, 70Hz : 7KHz

=4 :1)

OdB * 0.5dB (8§2, 100W, INPUT

VOLUME > MAX}

25K (UNBALANCE) INPUT

VOLUME »MAX)

HM CHARACTERISTIC CHART

¢ FREQUENCY RESPONSE

il I _ . i
—_— e es :- e e e S ST, PR

il : .
2. T R T T e
§‘ | ot ! 1w ( 1ere ) DOM Charmnels driven 8
- ‘ e U o

¥
Y S - - — e -
O S . — -
e e —aasd
. T
©5 - o
-~ FREQUENCY (Hz)

® FREQUENCY : TOTAL HARMONIC

DISTORTION

TOTAL MARMONIC DISTORTION
o o
g 8

chenneis driven

i

|

—

| /-
I WP A
1

=i .

T

— — FREQUENCY (Hz})

DAMPING FACTOR

(452 10ad)

OUTPUT IMPEDANCE

HUM & NOISE
SLEW RATE

CROSS TORK
PHASE SHIFT

POWER REQUIRE-
MENTS

Greater than 100 (20Hz ~ 6K Hz)

Greater than 70 (20Hz ~ 20K Hz)

Less than 0.04§2 (20Hz ~ 5KHz)

110dB (20Hz ~ 20KHz)

30V/usec (100W/8§2, 10KHz square-ware
input)

82d8B, 1KHz

70d8, 20KHz

20Hz ~20KHz £ 10°
Canadian 120V 210W

50/60 Hz 270VA

N.EURQCPEAN 220/240V 700w

50/60 Hz
220V 700w

50/60 Hz
AUSTRALIAN 240V 700W 50/60 Hz
S.AFRICAN
8S
us

GENERAL

240V 700W 50/60 Hz
120v 370w
50/60 Hz 480VA

DIMENTIONS (WxHxD} 480 (19") x 140.5 (5-1/2”) x

PANEL SIZE (WxH)
RACK SIZE
WEIGHT

337 mm {13-1/4")

480 (19”°) x 132 mm (5-1/4")

Mounts in a standard 19 inch (48cm )} rack
14 kg {30.9 Ibs)

® POWER BANDWIDTH

m
- FREQUENCY (Ha) #

® OUTPUT : TOTAL HARMONIC

DISTORTION

o2

§

TOTAL HARMONIC DISTORTION
o
]




(S ./ #1001~)

BPARTIAL DISASSEMBLY

FLOW CHART
. Discharge the electrolytic capacitor terminals.

Do not mix up the lead wires connecting the printed circuit boards when removing the boards.
. The circled numbers in the flow chart indicate the explanation numbers in the photos betow.

{3) Panet unit removal Top cover removal DA circuit board adjustment
‘ TR circuit board adjustment

{2) Volume circuit board removal

Power voltage check

{6) DA circuit board removal
(4) Power switch removal

L |
{11) Rear panel removal

{10} Panel removal

3

(8) Power transformer removal

W= e

Bottom cover removal

Connector and terminal check

{7) Transistor cover removal

{9) Electrolytic capacitor removal

(1) Main radiator removal (5) TR circuit board removal
Transistors for temperature
detection
Thermal reed switch
S

{12) DA circuit board holder
rerhoval

L__I____i 1
|

e TOP VIEW e BOTTOM VIEW
€ Volume circuit board © Panel unit Q Power switch O Power transformer @ Panel © Electroiytic capacitors
Unscrew the two screws hold- Unscrew the six screws Unscrew the two screws hold- (o L0 ee 0 serews Unscrew the four screws, two  Unscrew the two screws hold-
ing each of the knobs after in front. ing the power switch in piace " on either side. ing the bottom cover.
you have removed the panel

3 unit.

gtter you have removed the
panel unit, )
yo

PR
W

i R n

holder.
*Take care with the connected lead wires.

> Mazin radiator © TR circuit board
© Unscrew the tour screws, Remove the transistor cover and the main radiator. You can
detach the radiator and the circuit boerd once you have removed © Transistor cover @ Circuit board holder @® Rear panel
the power transistors from their sockets. Unscrew each of the screws. Unscrew the three screws Unscrew the four screws,
holding the bottom cover. two on either side.




__ra0

INSPECTIONS

(S

BMADJUSTMENT AND

/ #1001~)

The output impedance of the low-frequency signal generator should be less than 600S2, and the distortion should be

less than 0.005%.

Use an syncroscope, level meter, distortion meter or other instruments with an input impedance of over 100K <.
Discharge the electrolytic capacitors in the power rectifier circuit when the top cover has been removed.
Turn the semi-fixed variable resistor (1KS2} on the DA circuit board to its leftmost position {min.} before switching

the power on,

. ldling current adjustment

a. Switch the power on, turn the semi-fixed resistor

(1KS2) on the DA circuit board so that the voltage
across the TR circuit board test points PE and E is
13mV = TmV within 30 seconds, and set. (Fig. 1)

b. Perform the same adjustment for the other channel.
c. The voltage across test points PE and E fluctuates
with ageing {see Table 1) and so check that the voltage
across these test points after the tests is 22mV £ 5mV
{45mA). (When the ambient temperature is 10°C —
O
30 Cé and the temperature of the Heat Sink is 20°C
—40°¢C.)
dung Curvem
A{13mveimy
Vortoge
«]] 0250mv
Fig. 1
i
— 20}—— i -
Z )
E
= sof————d- - e
> | :
! i
0 5 0 _ 15 20
=== Time {min) Table 1
2. Center voltage adjustment
Check that the voltage across TR circuit board CT
and E terminals and across the speaker output ter-
minals is within 0 £ 50mV. (Fig. 1}
3. Amplifying characteristics (stereo)
3-1. Conditions
{nput terminal XLR-3-31
Output terminal Connect a 452 load impedance
Volume Maximum
32&%“;; ‘t;:ard Set to stereo (ST)
3-2. Gain
a. Connect the equipment as shown in Fig. 2.
b. Check that the output at both ends of the load

impedance is +26.5 £ 1dBm when a —5dBm 1KHz
signal is applied to the input terminal.

) Voit theter
LF. 0SC. P2100 nLecs mbn Water @
& —1 3 o@§© S
°mmog/ l ,, 000, o] | -4 :
T SdBmikr » Volume - MAX. J J
Fig. 2

3-3. Distortion

a. Connections are the same as those in Fig. 2, but in
addition, connect a distortion meter to the output
terminals.

b. Check that the distortion is less than 0.03% when
20Hz, 1KHz and 20KHz signals are applied to the
input and when an output is provided of =67W
(+26.5dBm).

3-4. Frequency response

a. The connections are the same as those in Fig. 2 but
the waveform can be observed when an sincroscope
is connected.

b. Apply 10Hz, 50KHz signals to the input, and based
on 1KHz across the output terminals, check that
the frequency response is within 10Hz ig , 98B,
50KHz tg 5dB. ’

3-5. maximum output

a. The connections are the same as those shown in Fig,
2. In addition, connect a distortion meter to the
output terminals.

b. Apply 20Hz ~ 20KHz signals to the input and
check that the 140W/4Q) (+29.7dBm) output is
provided at the output terminals at a distortion of
less than 0.05%. Furthermore, connect an 8%2
resistor 1o the load and check that an 85W {+30.5
dBm) output is obtained at a distortion of less than
0.02%. (Single channe! drive for this test).

3-6. Noise level and residual noise

a. The connections are the same as those in Fig. 2.

b. Check that the noise level is less than —67dBm
when the input terminals are shorted with a 600§2
resistance.

c. Check that the residual noise is less than —70dBm
when the volume is set to its leftmost {min.} position.

3-7. Crosstatk
Check that the output of one channel to the output
terminalsof the other channel is less than —44dBm
when a —5dBm, 20KHz signal is applied to the input
terminal. Connect a 600L2 resistance to the input
terminal to which the signal is not applied, and set the
volume to maximum.

4. Stability

4.1, The P2100 should operate stably even if the power
voltage is fluctuated as much as £10% of its specified
value.

4.2  There should be no abnormal oscillation under the
conditions listed below when the input terminals are
open or shorted with a 60052 resistance.

a. 4 — 10012 impedance load

b. 100pF — 0.47uF capacitive load

c. 10uH — 1H L load

3. Check that the overshoot is less than 0.7 under the

conditions listed below with a 10KHz square wave
signal and a 40Vp-p output.

a. 10uH — 1H L load

b. 100pF — 0.47uF capacitive foad

* Disassembly Procedure




CIRCUIT BOARD : NA80250

CIRCUIT BOARD (CHB) : NABO249 )5
f 305400NAB0249 1

BPRINTED CIRCUIT BOARD #>¥—tH

(s/&1001~)

CIRCUIT BOARD : NA80249 34
305400NAB02493

33

CIRCUIT BOARD(CHA) : NAB0O249%

305400NAB02492
—— o
J . ~2
N ‘ .

oy

A0 O 01
? t K L 4 Z

PECT ~ —E—:Tﬂlo

T




(S /#1001~)

[DA] CIRCUIT BOARD : NABO251

o wO

BCH TRII

ACH TRII

a7
Ad

A9

]

% by

A9

R R

o
“ige

EdanLid

DA CIRCUIT BOARD

<
. -
2 3l z =
w - e £
505 |82z
> .
L2d [ 2]
L ~ (:4 @N
v
(%]
o = o~ "
F4 H O 0
o© o o~ N
by o o
o «© @
a < <«
a z z z
-z
i3 z
°g PR
LXze |gla2y
5335 |%|=:8
430 (v |2o=E
™
zEZX= | O
Ez'g z
w
384




BMSCHEMATIC DIAGRAM ®EX

NAB025!
~ ETY
=¥ o Lo & lm o
© 3 3 S\o TRI4 | 50.3.
23 ; g (%] T8¢ .
' % 4 . Sy Vo 56
330 8 ov 2TmRIZ .
330 TRII BeR2 . T isons
Q0 " < $O0—wQ
VOLUME N i | € RIE:
INPUT NA8SO250 172 @3 10P/500 &
- TRI [oesviossv] TRz T1H
i\ 220003 . 12K
“t+—K) & Q
k) X 1S1555 BV |- 3w Tosv
| 4 g
CHANNEL A of  IS1555 59
n hd " n
62 b » 1 330/300
, AoV > SEV
- ( —-29.8V
TR3 & Tra
-57.0v 1700 Tkt 1-595V 1kip
560P
S . e
>
MONO Sw A

R R

o -
I =¥ o « faz % lé\g TRia |
o = a3 Xat ST '[9 o Y17
w¥ TR7 PR - )
2 I\ gr
x 330 ° TRUI @ R2 1y
VOLUME 470/10 2% 390 500 IR -T2 St
INPUT NABO250 2/2 x v » ST S
- ® TRI 2 4902 | S 5|
TR g
. 20 Y jie  osl RE ;0000 22« 220 < o r— Ig
z L2
L 48 < N ° 2
Gl |l sl T8 B e RIS T3
CHANNEL 8 5 83 82 & . 151555 s
g[ ® E 3 14 - o g > e
b2 3 l 1t 3 }/s—oo z .,_Td‘,___z
3 oot oY /o
( B\
TR Ll $ TRa
1 100 ' gg0p
a
(c% TRS TR6 §\§"
o >
I g X g.a.‘
23 . I
it T EL &3 ., =
A " wwwo| &
G
IRI~ 4
TNPOT (G5 MODEL ONLYI- — — ~ " 1 TR5,6,8,10
(530 l | ® WIRE COLOR ABBREVIATIONS TR7
o/ 2 2 1 TR9,14
‘Lso‘ : BL » Black Vi » Violet CAPACITOR —t— [RESISTOR —wA— TRIY
N
3120\ en i BR»Brown  GY» Gray ® JrovsTvRere| A [FREPROOFING| TRIE
1 REP Red WH » White A | TANTALUM | >—w|FUSE RESISTOR
70 vome | OR » Orange GG » Light Green TRi6,18
v—o ?‘__— CONTROL : YE » Yelow SB » Light Blue TRI7, 19
I GR » Green PK » Pink
v—0 {  BE » Blue
[1_04 Fe—— e —— e 4
t
” ]



(TRINAB0249 2/3

T 50.3V +g) [ s s03v
A
' a7 |20 soy
3V a ; t
ol e LN
- - I A“ 0.013v
MO 0.59 0.0i5v
? F 0 lmL 33
') [4) e % 3uH
ofol R ¥ JAPAN MODEL =
al~ c e _° " CJ ® 8L mmo S
° a a Pay
< SsgmoA p2 33 . N3 CHA OUTPUT acioov psw
«
| 18 1% T L ol © e
-l 148 18 ) .
3 2 Fe ., E <1000y L.
- 2 {2 wl = § 12001 + 0.0034F
a a { g:: wi o GY
a £ < o
2v 5 f ° GABO4|
€ 3 a
~50.3V I <] -503v}
-8 -8 -y
ia §act ac . EI ¥ GENERAL MODEL
L g % {io2v R
FHAE
y' oT S %
I 8.[ ol ACZ} ac
10.2V | ! — -
ac 8L
F NA8Q_249 1/3 j I wH
+8) +8 - - 8], _
P a7
~
} 1 TRI6 TRI8
" o (P47 1
. 150ma H -
O30t 30ma 33 X Pel VOLTAGE
30 o [ - A ¥V N.EUROPEAN MODEL SELECTOR 240V
Byo o Y S POWER =
S¥C . T s o ® oR sat SwW 220v
o 3 e S P4z 8€
& 8y 5 & l CHB OUTPUT
@ | 330 h! - —O
150ma P4 FZ: ° LUK et
a1l 8
; )@ :
\ ala g:- GY
sl ] TRI9! S GABOS53
3 3 of i ¥ BRITISH MODEL 240V
-J L POWER RE
% e = AT SW 220v
ta £ B8R BE
AC
H 9 [D YJ
AT B
z3 3T i Ul 2
O SIQL"Acz T sw
O
Q
1 o
- GY
. GABOS52
1 2SA872A ¥ AUSTRALIAN MODEL
10,12 1 25C1213A S.AFRICAN MODEL 240V
- 25A810 v POWER o
. 25C1624 ovac sr 354
- v —— O\ O— 0
. 25A682 10.2VAC PX 8¢
. 2SA673 ovac
. PK
. 2SA8i4 ++50.4V 36.7VAC R SR/YE
| . 2S8Cl116A 5
i T 2SATATA § 2
8 BE ov
H GY
§ . GAB053
| -s03v xBH N
= & Apan 36.7vac 6A804!
4 US & CANADIAN MODEL
— 8



(S/#1001~) Bl
BWIRING 74vY>7
US Model
]
i REAR PANEL
8L E
=) @ .
BE WH /BL o
’;T \
L_‘—:. = = SR
~ —J Jor BE
r Fh lJJ
TRII Ce—s
=TS
- il
TR CIRCUIT BOARD TOTRCS o¥] [ JsB DA CIRCUIT
[:_ 6K6n—-n 90
I PK 5 L} v
x ~—{ PK: J . Tl
; WH (—"{ iwi v
@ BEEER _‘EE of b8 @ o
o BL_|_| Ton I ]
< BL 7 & o J O G
- cE L —&3
<
= I
El GY u”
e T : e
o ; fil —
‘ - e T T T T
BE ||
et | | B T
| )
)
120 +0.033M Fuse POWER TRANSFORMER
POWER oY 322
BE SWITCH (o= ||z
l 3 L L '+ )
‘———‘—‘iPKI Pogd prrt g
Br__ I
]
BR A
\_ BL
L wH
L RE
\ GY
\ \_
LED (THERMAL ) BE




¢ WIRE COLOR ABBREVIATIONS

8L » Black
B8R » Brown
RE » Red
OR » Orange
YE » Yeliow
GR » Green
8E » Biue

Vi » Violet

GY » Gray

WH » White

GG » Light Green
SB » Light Bive
PK » Pink

Gﬁﬂss

GG

E—E)TOTRC.B -

T%
o ©©

11

TRIH

S =
—— O e;
[ )

e

—

—|
~

J

se TR CIRCUIT BOARD

R

THERMAL LEAD SWITCH

|

pu
Ity

)
———Tlgﬁ —

4

coe RS ofde
]
JJ I/cﬁgka \ [I/CHAN&EL\

VOLUME CIRCUIT BOARD




BPARTS LIST




DESTINATION ABBREVIATIONS

G : General NE:

North Europesn A © Australian

€ : Canadian

us:us 8S : British SA : South African J  : Japen
Z’o‘- Part No. Description Remarks
T ] < 4 = ¥
1 400 D0E i 440 Bind head tapping screw M4 x 12 e
2 4010 D0EV i41124100]  Toothed lock Washer A4S " H OE &
305 00°8a 8190 Top cover b v 7 # o< —] US.C model
Do 1. G.SA A BS NE.
11910 —do. - ul modet
5 {00:50]  ind v.2ad screw Mix6 FoTAL P LY 320

o2

Oval head tapping screw

201000 €0} 23005

Bindheadscrew M4 x12

M3x R PAMY v ErTxS

i Bl U E 4

Bind head screw M3Ix8 LAk A X 3
Toothed olck Washer 33 i E &
Hexagonal nut M3 . N - 20
Shield Platt ¥y - ¥ &,
Fuse 250V 1A € a2 — X| 4SA G C, A model
— do, — 852 UL k& a3~ X| ys model
—do. — mini___1AT, 250V i =2k a — Xi NE BS model
Wire Ass’y (AC) A C®M#HAssy
~do.— (-8) — B 8 # Ass’y
—do. — (4B} + B 8 H Ass’y
DA circuit Board o O A ¥ — FiJSA G C Amodel
—do. — " US modei
- do. - " NE_8S madel
TR circuit Board CH-A T R _ ¥ — ¢
Power Transistor. 25A747A Ay ES L POy T
Power Transistor 25C 1116A Al 3 3. O A
TR Cover T R hHh & —
Pan head Screw M2 6x8 t+ + N g 2
Transistor _ .. .___.25A682 | B B O e
TR Ciccuit Board cH-8 T R > — ¢ 4
Thermal lead Relay . Y=Y = Y L—
__Bindhead Tappingscrew  M3x8 I b SRS N WS S ]
Power Transformer R — S5 2 R} 4. US C model
~do. e e e " G.SA. A, BS. NE model
Hexagonal screw M5 x 1§ dAN B # b
Spring lock washer 59 AN - N
__ Flat Washer . _5§ 7 &= b3
8ind head screw MS x 15 Fo4 Y FophA
Flat Washer 5S ¥ -3 ]
Sub Panel H® T N 3 n
Pane! P2 E'S n
Flat head screw M4 x 10 + WM op o
VOL circuit Board VOoLY— Y%
Bind head 1apping screw M3 x 16 Y s 54l
37 10 Spark killer 0:33 uF 120Q AR A B
38 qo Push Switch 125V 10A T2 a2X4 v H) G, SA model
2030300 kA 80 02 10 ~do. 240V 4A n A, BS. NE_model
0100 kA B 00|  —do.— " US,C_mode!
39 30540008805690 Stider for Push Switch R AR R

X % 4 ¥ —

40

401000 cB 80 §7 10

Tape (Red) for Power Indiator

3 5 -
1ir—9—5—7]

41

LED ciruit Board

LEDY -~} ¥

42

4010 00 ina fR0120:0
3054100 BA 8) 19 B0

Handle for Front panel

F 7y F A

12



® General, Canadian, Australian, S.African Models

® US Model

® North Eurpean, B.S Models

16



